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‘[ndicate the state of hybridisation of each

.a)

b)

carbon atoms of the following compound:
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Suggest a chemical test to distinguish

chlorobenzene from benzyl chloride.
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- solvent?

inéreasing order of electron affinity with

What do you mean by levelling effect of a

W levelling effect W % carm e

Arrange the follow_ing elements in the_

reason:
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Between ‘N’ and ‘O’ which h_a‘ve higﬁer |

ionization potential and why?
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n) '

- CH,-CH, -CH-CH, _g%cgi,}—)?

; Dlstmgulsh between Bohr’s Model and

 Sommerfeld’s Model in connection with
the structure of atom.
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Discuss about Aufbau principle and its
limitations. '
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Designate following molecule as threo
or erythro:
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};)/ Balance the following equations by ion
_electron method:

. e sret Ruw 31 2
KMnO, + H,0, + H,SO, =K,SO, +MnSO, +0, + H,0

f) Balance the following equations by
ox1dat10n number method:
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Cu+HNO, = Cu(NO,), + NO, +H,0
193/Chem. [4]



e I:law does ionlzaﬁm mmiatl v atamg
- aperiod in the permdic table? Why?
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(v)/ What do you mean by formal potential?
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Formal potential %its & Carim 2

b) i) Carry out the following conversions:
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A) H3C-—ﬁ=CH2 €H,CHCH;
HiGr o H
B) H,C-C=C-CHj; o <
H CH;
X
) Hy€-C=CH = H,C O CH,

ii) Determine R/S-configuration of the
chiral centre of the following

compounds:

fmferfie @ewfed chiral centre-93 R/S-
configuration faefd @t ¢
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A) Hydroboration-oxidation reaction
B) Pauli’s exclusion principle

What are the differences between
enantiomers and dlastereomers"

Enantiomers @33 diastereomers—aa A4y
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i) Write down the value of four quantum

193/Chem.
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